ERS1EE—MRIETHNTE ERE-BEEHERER
1 WA -BEHEREE (5 (BB FM)
B R W &R
X ) w8
B OE MR — & Bt IR
mATFTEHE A 23,612,963 9,424,667 14,188,296
m P E S B 25,733,920 9,424,667 16,309,253
= 5l % A—B A 2,120,957 - A 2,120,957
2 BA-BREETE (15 (BB FM)
x 5 5 & B R W &R
B OE MR — & Bt R
mw ABEEHE a A 348,963 A 259,639 A 89,324
m HEETEHE b A 1,469,920 A 259,639 A 1,210,281
= El %8 a—b 1,120,957 - 1,120,957
3 RRFPHEEE L) (BB FM)
= 5 - B R W &R
B E MR — & Bt R
FEATEE o= A+a 23,264,000 9,165,028 14,098,972
mHTESZE B=B+b 24,264,000 9,165,028 15,098,972
= 5 ¥ a-—1R A 1,000,000 - A 1,000,000
X BHRFAREOEMICOVTE. MBRABRESFOEEERVE—SF—R—IRESE
KDL DEARIZKYHBTAT S,
4 BEE%S(ERRERS) DR (Bfi:FH)
X ) 29 ER S0FEER(RIA) S1EE(Z1))
B B R B E S 1,158,542 1,789,847 1,189,847
A | = % 285,451 185,606 285,606
T EEMES 1,551,343 1,419,128 1,811,455
&t 2,995,336 3,394,581 3,286,908

X [BOFEER(RRA) IF, —RIEFASAMETFTHE(E

548 ETOEMERML-EEBE THS.
X T31EE (L) 11E. 31 EE LD T HICH T AMER REEBTALEROEERE THS.




